log (t*) CIELABUS triangle lightness t*

t* Ync=Yw nc=100,

 CiELABUS =66 (Y/Y) 316 (Y,=18, Y,o/100<Y<=Y,0)
t*(3,6)=23t* ,(18)=50 t*/(90)=97

log[t*/t* ;]=0, m,=0,43
application
range
1
1Y=18
Yn=3.6 1Yy=

BEY50-1A

log(A CIELABU5
AY tristimulus value difference
Yoc=Yw - nc=100,
 CiELABUS =66 (Y/Y) V3016 (1,718, Y,o/100<Y<=Y,o)
log(dY) = (1/3,0) log[3,0¢,/65)] + [1-(1/3,0)] logY)

application
- range
L Yu=18 00y
1 Yw=90

log (AY/Y) CIELABUS
_ tristimulus value sensitivity
SOV Yoc=Yw - nc=100,
 CiELABUS =66 (Y/Y) 3016 (1,718, Y, /100<Y<=Y,0)
log(dY/Y)= log[3,0(Y,/65)] - (1/3,0) log{/Y,)
= (1/3,0) log[3,0¢,/65)] - (1/3,0) log)

2ol
log(dY/Y)=-0,53 M- D50~

.
t*,=50, dY,=4,58 dY,/Y,=0,254« 1
1
1

application
~.4ange

1
1y,=18
1 Y=90

log (Y/AY)
C,=(Y/AY)

CIELABUS

tristimulus value contrast
Yoc=Yw - nc=100,

 CiELABUS =66 (Y/Y) V3016 (1,718, Y,o/100<Y<=Y,0)
log(Y/dY)= - log[3,0/,,/65)] + (1/3,0) log{/Y,))

= - (1/3,0) log[3,0¢,/65)] + (1/3,0) logy)

application
range

Y,=18
Yw=90

log (t*/t* ) CIE_LABu5 rel_ative triangle lightness t*/t*,

[*/t*u Yoc=Yw nc=100,

t* CiELABUS =66 (Y/Y) 30-16 (¥,=18, Y,/1002Y<=Y,)
t(3,6)=23,t* ,(18)=50,t*,/(90)=97

L* =49, t* =50
application
f range
1y,=18
Yy =90

Yn=3.6
BEY50-2A

log(AY/AY,)
AYIAY,

CIELABUS relative

tristimulus value difference

Yne=Yw nc=100,

t* CiELABUS =66 (Y/Y) 3016 (¥,=18, Y,/ 1002Y<=Y)
log(dY/dY,) = [1-(1/3,0)] loglf/Y,)

application
range

Y,=18
S e —
N=3.6  Yy=90

log [(AY/Y) I (AYIY)] CIELABUS relative
tistimulus value sensitivit;
SIS =@YMIAYNY), D S P oY
t CiELABUS =66 (Y/Y) 30-16  (¥,=18, Y,/ 1002Y<=Y,)
log[(dY/YV)/(dY/Y),] = - (1/3,0) log¥/Y,,)

application

logl(dY/YY(dY/Y)]=0, m=-2. 30
t+,=50, dY,=4,58 dY,/Y,=0,2544 }
1v,=18

Yy =090

Yn=3.6
log [(Y/AY) I (YIAY),] CIELABUS relative
tistimulus value contrast
CrlCry=(YIAV)(YIAY), v, 2y, 2100

=
ne '

t* CiELABUS =66 (Y/Y)M30-16  (¥,=18, Y,o/1002Y<=Y,)
logI(Y/dY)/(Y/dY),] = (1/3,0) loglY/Y,)

application
range

Y,=18
Yw=90




